WD TIVRIDT VYR YR Q’n21 noon MY AT TINHD My e

28.11.5
96b (2r maww) > 98b (77977 D17D)

7,0 7227 3PIARY NI A2 DN 12 PR ‘N IN? TR DIPH2 NYIR) YYD .

#2,1 4777 DDA YUY PIDI NPWA NYNI 1972 DRY I2Y? 12 Hwan R N Yy .

27,0 8777: R0 DYTR WTH ANR YR 01053 721 9D .

2:7 47771 VTR DIPRI DN 79PN IWR T2 YY ANTN NP TWRY YIP? A2 YR YR H .
m,2 mow:12 192YN RY DYY) NN 1IN 10 12D 10 RORIN KD HIN? TNR M2 .

15,1 8771 - DRPWN NAIDY DORIHYNY) DYRY) NRVNDY Mn? NHYY NIND NRE .

7,7 mow 02N Y P DTN YN NIIRI DV DTN 8N AYH NN .

2,35 px12:122 NR VHYY NPIRAD NR NP2 T NR DNIIR NYY .

2,33 rekt3:912 TN NPYP INZPN RN N} NP2 DR 7271 1IR3 7292 TR DR 28 MIN) R VPP NR DI1IR RN .
1,0 477 RI0 DYTR WP YaR2 WITH DIpRa 129K 02nda 191 3.

»,m 22702279 Y WP INR Y285 137 92 19IRA DYTRD Y3

7,70 ¥777: 3072 TP 1TP2 9921 99 YR NRVDD 99 DR 1IDR DIP .

5,7 4777 2P0 12T 'NY DI7IAR DR 1IPNY HRIY? 212 DR INIY D120 102 NYH NR ‘N MY TR

W %™ N % A W NN

I 2t mwn: time frame and method of (7177av) VWY NP N
a  Time frame:
i v”rif he used it during the %37, he may continue throughout the %3, then process it afterwards
1 Suggested source: v. 1- entire %31 is considered to have one “morning after”
(a) Challenge: v™ only applied principle to this na%n — there is %372 AN Y104l
2 Source: (since there is constant cooking) each day generates 519 for the day before
ii ~ pp5m he continues using it until after n%5x 101 of whichever wmp he cooked in it
1 Source: vv. 2-3; wait until 098 (v. 3) is over, then wash (v. 2)
b Method:
i Ap»m: like v19N Np™n (cleaning inside) — cold water
ii 790w like 0120 NoYWY (cleaning outside) - cold water
1 am772 these opinions follow »17; DnoN maintain that np»n is with hot water, na»ow with cold
(a) Argument: follows method of n™21 5197
(i) Counter (737): this process is besides %17
(b) Argument: text could’ve used pn (or quw) twice; use of both indicates that one is hot, other cold
(i) Counter (237): if it had stated pn twice, X”10 only do inside (or out)>need both in and out (cold)
iii ~ Spits and grills: must undergo n%yin in hot water
II  'n mwn: processing pots that had mixture cooked in them
a  If: he cooked mwTp with 19N or wwp *w1p with op v
i Ifthereis v"r they are eaten like the more stringent one (D'WTp *97Tp or DWTP)
1 But: no requirement of na»0w1 np>n nor do they invalidate through contact
2 Question: if 17"p1p were cooked with m%p 0w, they require w™n for the mYp VTP
(a) Answerl (»ax): they do require, just not for the nw1p *w1p (if no v")
(b) Answer2 (x¥37): nawn follows v —no v"n for DYp DV
(i) Analysis: according to 817, we understand the 2 clauses — 2d teaches according to v
(if) But: according to »ar, why require both clauses?
1. Justification: if only had 1+ clause, 8”10 that only >N can “trump” (Y0an) DwTp, not other wwTP
2. And: if we only had 2" clause, 8”10 that only other »w7p can nullify n'w1p, not pomn...5"np
b  If: aloaf touched another loaf or a piece (of meat) touched another — only the spot of contact (ny*9a) is MoR
i Source: v. 4 — y» = any contact, but n7w11 > must have ny’53; y» - only point of contact; N9w11 >not sinews etc.
1 Continued: w1 - if it is 9109, to invalidate (point of contact); if 7w, to require all be eaten as 7N
(@) Question: why invalidate? Why doesn’t nwy of wTp n»ar trump n”> of eating n»10a nxrovN?
(i) Answerl (X¥37): rule of N9 nm1 NWY doesn’t apply in V1PN
1. Proof: may not break bone of noa (v. 5) — even if there is meat inside (marrow)
(if) Answer2 (7wx ’7): WP is an NWY; the NWY of DWTP NYHR doesn’t trump N NVY
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ii  Extension: from v. 6; each 127 listed there informs rest of list about one rule
1 Abw: requirement of *93 (doesn’t mean patn — that is written re: »n>w — v. 7) — knife (for nonw)
(a) Source: v.8 —and nTpy was an NNy (v. 9)
2 Amp: only eaten by nnnd Mot
(a) Can’t be: in re: DWRY NRVN, which are written explicitly (v. 10)
(b) Nor: max Y, inferred from extra phrase in v. 11
(c) Answer: some infer from v. 11, some from v. 6
3 nxom 191 is wipn (our rule)
4 pwn:just as placenta of DWR is not W17p; neither is placenta of any owTp sanctified
(a) Note: he must hold that 0*w7p mTon are only sanctified at birth
(i) And:we can infer from impossible cases (e.g. bwR — only male)
5  pwop:just as any leftovers were burnt — but no live animals included
(a) So too: all WP — any living “leftovers” (e.g. Y9»1 1790mW DWR) aren’t burned, but graze etc.
6  ppbwi nar just as WYY can generate and become 919, so too with all maavp
iii ~ Alternate version of ¥”1 (only replacing np, n¥vnand owK)
1 7mop:just as nnan sanctifies others via ny’%3, so too all naip
(a) Justification: if only written in re: nnin, X”To because it is soft, it is Y912 — not nxrvn
(i) And if: only written in re: nkon, X"10 because it is “bubbly” with fat it is 12, not so with nnn
2 navm: just as nkon must be brought from YN, during the day and with his right hand, so too all na1p
(a) Sources:
(i) p5mv. 12 - must be his, not from communal funds, nor from wyn
(ii) przisinferred from general phrase in v. 13 (a: it was mentioned inadvertently)
(iii) p»’ 7. inferred from yaxxr and nnnd (a: mentioned inadvertently, or in response to v who main-
tains that yaxx alone is enough, but N1 w/o yaxr doesn’t imply right hand)
3 pwx:just as bones of DWR are permitted, so too with all nuap
Cc  N27s questions:
i Abovelbelow: if N9y 17 is atop nrvn 0T on T, obviously requires V11’3; what about inverse?
1  Lemmal: issue is contact — there is contact 211273 NYV
2 Lemma2: issue is absorption — no absorption = 01223 YV WR
(a) Conclusion: no requirement (issue is ny’91)
ii ~ /Ay¥m obvious that o7 on the garment of a Ymw or fat on the garment of a 2127 921 — not p¥In
1 Question: what about both on one of these artisan’s garments?
(a) Lemmal: he only ignores that which is part of his livelhood = pxmn
(b) Lemma2: he doesn’t care about dirt on his garment at all = pxin wr
(1) Conclusion: yp'n
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